EXERCISE 12-12 (20-25 minutes)

(a) 1975-1984: ($2,000,000 – $60,000) ( 40 = $48,500/yr.

(b) 1985-2002: 

Building ($2,000,000 – $60,000) ( 40 =
$48,500/yr.


Addition ($500,000 – $20,000) ( 30   =
  16,000/yr.








$64,500/yr.

(c)
No entry required.

(d)
Revised annual amortization

	Building
	

	
Book value: ($2,000,000 – $1,358,000*)
	$642,000

	
Residual value
	    60,000

	
	582,000

	
Remaining useful life
	32 years

	
Annual amortization
	$  18,188

	
	

	Addition
	

	
Book value: ($500,000 – $288,000**)
	$212,000

	
Residual value
	    20,000

	
	192,000

	
Remaining useful life
	32 years

	
Annual amortization
	$    6,000




 *$48,500 X 28 years = $1,358,000



**$16,000 X 18 years = $288,000


Annual amortization expense: 

building ($18,188 + $6,000)     $24,188
	
	PROBLEM 12-11
	


	1.
	$82,000
	Allocated in proportion to appraised values 

	
	
	   (1/10 X $820,000).

	
	
	

	2.
	$738,000
	Allocated in proportion to appraised values

	
	
	   (9/10 X $820,000).

	
	
	

	3.
	Forty 
	Cost less residual ($738,000 – $40,000) divided 

	
	years
	   by annual amortization ($17,450).

	
	
	

	4.
	$17,450
	Same as prior year since it is straight-line    

   amortization.

	
	
	

	5.
	$91,000
	[Number of shares (2,500) times fair value ($30)]

	
	
	   plus demolition cost of existing building 

    ($16,000).

	
	
	

	6.
	None
	No amortization before use.

	
	
	

	7.
	$30,000
	Fair market value.

	
	
	

	8.
	$4,500
	Cost ($30,000) times percentage (1/10 X 150%).

	
	
	

	9.
	$3,825
	Cost ($30,000) less prior year’s amortization 

    ($4,500) equals $25,500. Multiply $25,500 

    times 15%.

	
	
	

	10.
	$150,000
	Total cost ($164,900) less repairs and 

    maintenance ($14,900).

	
	
	

	11.
	$37,500
	Cost times 2/8 ($150,000 X 2/8).

	
	
	

	12.
	$9,375
	Cost less prior year’s amortization ($37,500) 

    multiplied by 2/8 = $28,125 for the year. 

    Multiply by 4/12 to get expense since was 

    sold Feb. 1.


PROBLEM 12-11 (Continued)

	13.
	$52,000
	Annual payment ($6,000) times present value of 

    annuity due at 8% for 11 years (7.710) plus 

    down payment ($5,740). This can be found in 

    an annuity due table since the payments are 

    at the beginning of each year. Alternatively, to 

    convert from an ordinary annuity to an 

    annuity due factor, proceed as follows: For 

    eleven payments use the present value of an 

    ordinary annuity for 11 years (7.139) times 

    1.08. Multiply this factor (7.710) times $6,000 

    annual payment to obtain $46,260, and then 

    add the $5,740 down payment.

	
	
	

	14.
	$2,600
	Cost ($52,000) divided by estimated life 

     (20 years).


